

$$\frac{-D}{\epsilon n} = ? \quad \frac{-(18\epsilon - \epsilon(\delta m' - m))}{\epsilon n} = ? \quad \frac{\gamma \cdot m' - \epsilon m - 18\epsilon}{\epsilon a} = ? \Rightarrow \gamma \cdot m' - 18m - 18\epsilon = 0$$

$$\Rightarrow \epsilon(\delta m' - (m - 14)) = 0 \quad \epsilon(m' - (m - 14)) = 0 \quad \epsilon(m - 18)/(m + 18) = 0$$

$$\Rightarrow m = \textcircled{5} - 4\epsilon$$

بما أن $\epsilon < 0$

$$m' = \frac{18}{\epsilon} m + 18 \Rightarrow \text{الحد } = -\frac{h}{\epsilon n} = -\frac{18}{4} = \textcircled{5}$$

$$a' = \alpha \cdot \beta$$

الحد

$$a) \quad p = \frac{\epsilon n - 1}{1}$$

$$a' = \epsilon n - 1$$

$$a' = \epsilon n + 1 = 0$$

$$(a - 1)' = 0$$

$$a = 1$$

$$m' - \sqrt{a} m' - \delta = 0 \quad \frac{m' + \delta}{\sqrt{a}} \quad m' - \sqrt{a} m' - \delta = 0 \quad \sqrt{a} = \sqrt{49 + \gamma} \quad a)$$

$$\frac{+ \sqrt{49 + \gamma}}{\gamma} \left[\frac{+ \sqrt{49 + \gamma}}{\gamma} \quad \checkmark \quad \frac{+ \sqrt{49 + \gamma}}{\gamma} \quad \delta \right] \quad m' = \frac{+ \sqrt{49 + \gamma}}{\gamma} \quad 0 = \gamma$$

$$\gamma p' - \frac{\epsilon \gamma p}{\gamma} + \frac{\epsilon \gamma}{\gamma} \Rightarrow \gamma p' = \epsilon \left(\frac{-\sqrt{49 + \gamma}}{\gamma} \right) \quad \delta \gamma + \sqrt{49 + \gamma} = \frac{-\sqrt{49 + \gamma}}{\gamma}$$

$$y = kx' - \epsilon x - 4$$

$$y = -\epsilon x - \epsilon$$

$$\text{الحد } = \frac{+ \epsilon}{\epsilon k} = \frac{\epsilon}{k}$$

$$y = -\frac{D}{\epsilon a} = \frac{-14 - \epsilon k}{\epsilon k} = \frac{\epsilon(-1 - 4k)}{\epsilon k}$$

$$\text{الحد } = -\epsilon \times \frac{\epsilon}{k} = -\epsilon = \frac{-1}{k} - \epsilon$$

$$\frac{-\epsilon - 4k}{k} = \frac{-1 - \epsilon k}{k} \Rightarrow -\epsilon - 4k = -1 - \epsilon k \Rightarrow k = \textcircled{5} \quad \frac{-1}{k} - \epsilon = -\frac{1}{5} - \epsilon$$

$$y = -m x' + m x + 1$$

$$y = -m - m$$

$$a) \quad -m x' + m x + 1 \neq -m - m$$

$$\Rightarrow -m x' + (m + 1)x + m + 1 \neq 0 \rightarrow x \neq \frac{m}{m+1} \Rightarrow D < 0 \Rightarrow$$

$$(m + 1)' - \epsilon(-m)(m + 1) < 0 \Rightarrow m' + (m + 1) - \epsilon(-m^2 - m) \Rightarrow m' + (m + 1) + \epsilon m^2 + \epsilon m < 0$$

$$\Rightarrow \delta m' + 4m + 1 < 0 \Rightarrow \text{الحد } = m = -1 \pm \frac{1}{\delta}$$

a + c < b

$$\frac{-1}{+} \quad \frac{-\frac{1}{\delta}}{-} \quad \frac{+}{+}$$

$$m = (-1 - \frac{1}{\delta}) \rightarrow \text{الحد } = -1 - \frac{1}{\delta}$$